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Part A
This part containg three bunchos of questions
carrying aqual waightage. I ach bunch has
four questions. Answer all twelve quastions
A. Fill In the blanks ;

1. Inthe study of felationship between variables, if there are

only two variables, the correlation s saidtobe ...

Rank correlation method is used to study the correlation
between .. ... . ..

The quantitative expression of likelyhood of an event is

2

5

termed as
4»‘9:;::% distribution is a

probability distribution.
B. Choose the correct answer from the bracket :

Q) Iftwo events are A and B; then A and B is written as :

a8 AuB b) AB
) ANB c) AnB
8, Height of the Normal curve is maximum at the point of ;
a) Standard deviation b) Mean
c) First Quartile d) Third Quartile
7. Which of the following is an example of Non-parametric
test? .
Q) Ztest b) T test
. C) Ftest - d) X test

; )T\ovo events are said to be mutually exclusive when
a) Both ofthem canoccur b) Only one can occur *
¢) None can occur d) None of these

C. Answer in one word :

9. The Standard Deviation of a sampling distribution is calied
as:

10.Sign test is an example for :

vf 1. The only parameter of a poisson distribution is :

12/ The % Area under Normal curve covered by Mean + 1.96
Standard deviation is : ‘

(12 x 2 = 3 weightage)
PartB

( 17 Wt are W Y b (oons i Vg fr s testi %
18 Define Poinson gy
/18 Distingiash Letween Nl distrippam sedd ot
e Gigirio s

20 Whiat i 8 by Arenin” Cie of & 610l
21, Distinguish betwesn Langie Conelatom e W oe
Conretation
(921%% woigidage
Part

Ariswesr sy Bive qusstions
Each question Carmes & weightage o 2.

/ 722 What are the properiies o s Horrnal Guree’

23 The data given beiow relates (o prce arvd gty & ppind
of 8 comnodity over a penod o & years
Pice(nRs) @ €& 7 & 4% &

Supply(intons). 9 & 10 7 &

. Calautate Pearson's Correigtion Coeticiert

ﬁfzymmwAww‘gpmuomnmsmmaw

h and odds in favour of B solving the same probiem are 14 i
16. What is the probability that (a) The problem is soived
(b) Problem is not sotved.

fs.m:mzommm:zamadzmm
Assuming that number of accidents follow Poison
dictnbution,ﬁndu\eprobdﬁymttuewmaovme
accidents in a day.

%.mnwmlifeofmowcﬂcbuupmdwbyamy
hfowﬂtobﬂsmhmnmmaﬁardardmdﬁﬁ
houn.rmmmmmmmwaa
mmﬁmammmm1m
hours,

27.Adiei:toued120ﬁnumdhrw£:obtanedm‘
Notumedup : 1 2 3 4 5§ g yua

Frequency 15 2 10 18 25 20 120

Answer all nine questions in one or two sentences each,
Each question carries a weightage of 1.
13.State any two uses of ¢’ distribution.
\34 List two features of Bionomial distribution.
‘Jg‘m 800 two events called independent?
18 What is ANOVA? |

Scanned by CamScanner

b) Number 3 up
) 1orSup @  Number iess than three
(5 x 2 = 10 weightage)
PartD ’
Answer any two questions,
Each GPmies a weightage of 4.
In a competiive o 5000 stuctents have appeared
for a paper in Their average marks wag 62
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30.From the following data of the ages of husbands and ages\
of wives; find the regression equation of Xon Y and Y on X.
Aiso find the ages of wife when husband’s age is 40.

_ Husbands ageX: 23 27 28 29 28 30 31 33 35 36
Wife'sage  Y: 18 20 27 21 22 29 27 29 28 29
/ 31.Discuss the important Operations Research Techmques

used in business.
(2 x 4 = 8 weightage) -
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